
Divide by Positive Powers of Ten (G)Find each quotient.
2.2474 ÷ 10² = 4.4095 ÷ 10¹ =
7.663 ÷ 10¹ = 3.3477 ÷ 10² =
9.338 ÷ 10² = 6.6 ÷ 10³ =
5.68 ÷ 10³ = 7.79 ÷ 10¹ =
4.2 ÷ 10¹ = 3.9938 ÷ 10² =
6.3 ÷ 10² = 6.48 ÷ 10² =
4.545 ÷ 10³ = 9.4 ÷ 10² =
6.6925 ÷ 10¹ = 4.67 ÷ 10³ =
2.6 ÷ 10² = 6.89 ÷ 10¹ =
5.6 ÷ 10¹ = 6.556 ÷ 10² =
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Divide by Positive Powers of Ten (G) AnswersFind each quotient.
2.2474 ÷ 10² = 0.022474 4.4095 ÷ 10¹ = 0.44095
7.663 ÷ 10¹ = 0.7663 3.3477 ÷ 10² = 0.033477
9.338 ÷ 10² = 0.09338 6.6 ÷ 10³ = 0.0066
5.68 ÷ 10³ = 0.00568 7.79 ÷ 10¹ = 0.779
4.2 ÷ 10¹ = 0.42 3.9938 ÷ 10² = 0.039938
6.3 ÷ 10² = 0.063 6.48 ÷ 10² = 0.0648
4.545 ÷ 10³ = 0.004545 9.4 ÷ 10² = 0.094
6.6925 ÷ 10¹ = 0.66925 4.67 ÷ 10³ = 0.00467
2.6 ÷ 10² = 0.026 6.89 ÷ 10¹ = 0.689
5.6 ÷ 10¹ = 0.56 6.556 ÷ 10² = 0.06556
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